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Note: Thare are threa seclions of the paper, A, B & C. Altempt Section ~ A on the same paper and retum nt |o tha
Superinfendent within the given lime. Mobile phone elfc. are not aifowed in tha examination hall.
Time: 20 Mins Sactlon “A” Marks' 18
Q.1  White the correct option 1.e. A, B, G or D in the empty box provided opposite ta each part. No marks willba

awarded for cutiing, erasing or over writing.

i. An ofganic cornpound having molecular formula C,He( is gas at room temperature The most D '
appropriate stucture Is _......... .

- X, -The correct order of reactiwty of drﬁerent alkyl halidesis .........
-C F:--C -Cf »— C Br B. "C p<_C cz;._c.nn...c[ C. -C-F< g}ct-:—(}-Bxd('}-l D. -é-r-:-c'}cu-{'j-nr»c-[

A HiC- CH B.CH3-0-CHs .~ C.CHgCHyOH ©  D.BothB&C |
ii. The major gas confributing 50% to green house effect s ........... : ﬂ
A.CFC's B.NOx ~ = C. CH, .. DB.CO; .
iil. Solubility of Mg{OH). is enhanced tremendously by the addition of ............. _..(.:‘,
A, NH,OH B. MgCl; - . G NHQ D. Alt of these o
iv. Super oxides of alkall metals react with water and form their respective hydroxides, H,0, and l\
A, 02 ~ B. Normal Oxide C. Peroxide D. None ofthese
V. veesereeenne OXidation state is more common at the end of the first transition serles, _5_,
A+2 8.+3 .. C.+4 ‘ D. +5 -
vl ... . Is more acidic comp!ex lon o - ) Q
A. [Cu(H0)e]" B. [Fe{H,0)l" /C. [Cu(H0)f"! D. [Fe(Ha0)] —
Y, I Is mbre stable alkene. AV L D]
A. 1-butene B. cis-2-butene . C. trans-2-butene D. Isobutylene _____
Vil + vovronne. I8 heterocyclic organic compound. - : o 2

A. Cyclopropane B, Toluene #C. Aniline D. Thiophene

ix. HES0 & ¢ ctovvvvrrrennn :

HC o CH +H,0 30 ot IE
- A 1,1-ethanediol B. Acetone _ o Aceialdahyde D. Ethancl -

A
- xi. For the same alkyl or Aryl groups, the easa of formulaﬁon of RMgX, follows the order for -
halogens as . e
A, F>Cl >Br>l B. F=Cl<Br«<] C:A>Br>Ci>F D. 1> Br=Cl=F
xii. The correct order for the acidity of different Alcohol I8 .........eee e )

A.RyCOH > RCHOH>RCH,OH  B. RCOH % RCHOH> ROH,0H - C. RiCOH <RCHOH <RCHON D R,Eone: R{CHOH = RCH,O
_ xiil. Primary amines react with aldehyde and ktones to form addmun unusable product, which loses

@ [T1a ]

water to form ...... _
A Hydrazine " B. Amide : c. Nitnte ; o D, lmines
XV ceriennens is the acid with highest Py, value. : ' _
A. Acelic acid B. Methanoic acid - C. Chloroacetic Acid . D. Trichloro acetic acid
Xv, Decarboxylat!on of propano[c acid is carrled out by heating the acld with soda lime. The
product formed Is .. _
A. Propane B Ethane _ G. Ethanot - D. Ethanal
XVi,  .erreeonnon [8 1101 @ hydrolysable suger. : EI
A. Fructese B.Maltose . ~ C. Sucrose D. Starch
xvil. Nylon (8,6)isatypeof .. poiymers.
A. Addition B. Condensation . C.BothA&B D. None of these
. . : R ’i
wvili. Ozone (O;) concentration Is increasing af altitude 57 km. The Ozis .......... at this level. E

A. Pollutant B. Absorb U.V light C. Useful - D.BothB& c
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Q.2 -Attemptany TEN parts. All parts carry equal marks. R ' .

1, How lithlum:Nitrates and carbonated behave differantly than nltratea and earbnnated of othar
alkall metals when heated? :

§.. Wiite possible shapes of complex fons have coord!nanon number 4 w:tm examp!es
" fll. Witte steps’for tha converslon.of coal lnto hydrocarbon
2 2-Bromopropane is the major product when propane Is treated with HBr Justify the statement
V. How 1-Alkyne can be distinguishad from nan terminal alkyne?
. ¥i.. How primary and secondary Alcohol can be syntheszad from Aldehyde?
vii. How Ethérs can be synthesized from alcohol, o
vill. Why Ketories are less reactive than aldehydes towards nuclaoph;las‘?
" ix. - How Acetlc Acid can be prepared from (1} Grlgnard's reagent (i) Nitriles -
x. Discuis the effect of femperature upon enzyme activity. '
x." How nall polish remover removes the nall polish? -

_xii. " How catalytlc converter reduces the emisslon of Hydrncarbons. CO and NG in ﬁle exhauat
. gases of automobiles? _ .

- il How modern malhods of anaiyéis are superlor to ctassicai meihods?
Sectlon ugn - o .  NariezE

Note: Attempt any. THREE questlons All questlons carry equal marks. -
Q3 a Compare structure of Carbon: dloxida and gilicon dioxide, -

_ b Write reacﬂon of Hexaaqua fron (Ii) Hexaaqua iron (Ill) with water and Ammonla
. Q4 a Wite IUPAG narmie for following compounds. : - : SECRE

CHs—CH—CH, = CH; % - coc:Hz CHa -
Na; [Fe(NO}C)s] ' [Coten)z Clal.

b. How alkane can be synthesized from ° :
.- - (iy carbonyl compounds (il) sodhum salt of Carboxyhc acid :
Q.5 2. Explain the dlrective and actwitaung effect in monosubatlluted Bromobenzene

b. Complete the reaclion _ _ '_ .

p CHs - CHon Cm-ff,somyo’c_%_

ii. CH3-CH ~CHs m’—"-'k‘i"ai’ri*i-a
0

Rt Co e
'_iii.Hé-GmH*NHon iy

"W, CHs = Mg — u::mco2 IS RO = )
Q.6 a What are lipids? Wnte down at !east ihrea chemlcal properties of llpids
b Deﬂne the following terms.

(i Stretchmg vibration (|i) Bendlng vlbration (IH) Shlelded and deshielded proton in NMR. )



